Ol &b Ak H Al A
20228 = =04 LB MEE
S &0
ASE MESE
ZME>ZT XA (9 ® =)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
SNy 21,613,925 21,065,019 548,
= 17,679,886
Al 3,185,887
- 748,152
MNASE 4E82F 14,409,306 14,143,405 265,
= 12,860,508
Al 1,078,496
- 470,302
TMExzg i XA 14,364,338 14,123,449 240,
= 12,860,508
Al 1,038,496
- 465,334
MBI SE X2 AL 42,440 A10,
Al 42,440
301 LB A2 42,440 A 10,
Al 42,440
01 MEI2E X253 42,440 210,
OF=R=3u E=4.]] 9,000
Al 9,000
OXtH n EHl 33,440,000& 33,440
Al 33,440
== 6,167 A
308 XXIEHH SOl A 6,167 8, A
08 WEIIZ20HStE X 6,167 8, A
Ou=ss0 6,167
HAS K 9,820,000 9,572, 247,
= 8,838,000
Al 687,400
- 294,600
301 LEAF 9,820,000 9,572, 247,
= 8,838,000
Al 687,400
- 294,600
01 MI28E +06l= ,820,000 9,572, 247,111
OMASN 9,820,000, 000& 9,820,000
= 8,838,000
Al 687,400
T 294,600
HaN 4,320,231 4,320,
= 3,888,208
Al 302,416
T 129,607
301 LEXZ 3,792,911 3,792,
= 3,413,620
Al 265,504




2N

> 0z
P B> e
(]

2%
HE: HASES MESE
el Jzdegss3 N3AAMY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 113,787
01 MEIBZE 06z 3,792,911 3,792,911 0
EAZ0(LRSH) 3,792,911,000% 3,792,911
2 3,413,620
Al 265,504
- 113,787
403 A X EHHS 20l A 527,320 527,320 0
2 474,588
Al 36,912
- 15,820
02 SO 2SOlCHEH A2 X 2 & A I 527,320 527,320 0
OFHIM(=ERXSA) 527,320,000 527,320
2 474,588
Al 36,912
T 15,820
A EH SO (L8 82,000 82,000 0
2 73,800
Al 5,740
T 2,460
301 LEAZ 82,000 82,000 0
2 73,800
Al 5,740
- 2,460
01 MEIBEZE 05z 82,000 82,000 0
Ot &t EH S04 (L EH) 82,000,000& 82,000
= 73,800
Al 5,740
T 2,460
HAMEHSH(AIE) 5,000 10,000 A5,000
2 4,500
Al 500
301 LA S 5,000 10,000 A5,000
= 4,500
Al 500
01 AR 2Z A5l 3 5,000 10,000 25,000
Odi &t EH S0 (A E) 5,000,000& 5,000
= 4,500
Al 500
2243 XA 56,000 45,200 10,800
= 56,000
301 gEd = 56,000 45,200 10,800
= 56,000
01 MI2EZE 6= 56,000 45,200 10,800
OF=F 2= &bl 56,000,000& 56,000
= 56,000
B0 43 024 SLU =2oaRgz X 30,000 30,000 0




SN MESED
HE: HASES MESE
SRl JEMELST AL CERED
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
307 glz2tol & 30,000 30,000 0
01 2222l 30,000 30,000 0
OEU =2=2Eg3 XIS 30,000, 000& 30,000
FAAHS SNSE AHMF 2,500 2,500 0
203 R =&t 2,500 2,500 0
03 A F=XH S =ZH| 2,500 2,500 0
OFHLAHNE SXNSE AMFA 2,500,000 2,500
TARAHES XA 40,000 15,000 25,000
Al 40,000
24E IZEEHS0 40,000 15,000 25,000
Al 40,000
301 LA S 40,000 15,000 25,000
Al 40,000
01 MEIBEE 263 40,000 15,000 25,000
Ozl M &A= Xl 40,000,000& 40,000
Al 40,000
S22 2l 4,968 4,956 12
SE X A2 4,968 4,956 12
201 Let24d] 4,968 4,956 12
01 At 2teltl 4,968 4,956 12
OSYEA - BALR48 S|
8,000 x6& x41L 1,968
OMIEZSHAY MA HME S 3,000,000& 3,000
NASEE Agole =4 2,604,025 2,652,268 A48,243
= 2,268,567
Al 267,982
- 67,476
HASE A& NE 2,604,025 2,652,268 A48,243
= 2,268,567
Al 267,982
- 67,476
ez , 149,187 2,149,187 0
= ,934,268
Al 150,443
- 64,476
307 21201 A , 149,187 2,149,187 0
= ,934,268
Al 150,443
- 64,476
11 ALS S RAEE = , 149,187 2,149,187 0
OXaZ2ZAY 2,149,187,000& , 149,187
= 1,934,268
Al 150,443




SN MEEED)
HE: HASS NEIl E4
2 HASE UE XN (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| - 64,476
NaXtedy X 278,711 278,711 0
2 195,007
Al 83,614
307 2Iztol ™ 278,711 278,711 0
2 195,097
Al 83,614
10 M3 SXNANEHI2IHEXR 278,711 278,711 0
OXN<Extady 29| 278,711,000& 278,711
= 195,097
Al 83,614
NExedy 23 =XsY 18,600 19,200 A 600
Al 15,600
T 3,000
307 glz2tol & 18,600 19,200 A 600
Al 15,600
T 3,000
OMBETANELHE2IHES 18,600 19,200 A 600
OXNgXadyd Ha sXl=¢ 15,600, 000& 15,600
Al 15,600
OIZFAIBIZ XA H 20 & bl
50,000& x5 128 3,000
c2sgde =Y €3RI (LB EET) 17,680 43,038 A 25,358
= 15,558
Al 2,122
307 21201 A 17,680 43,038 225,358
= 15,558
Al 2,122
11T AL SXAEE = 17,680 43,038 AN 25,358
OslYINSSE1 17,680, 000& 17,680
2 15,558
Al 2,122
2z2sgUs =42 23RN (LIS SE2) 64,450 75,830 A 11,380
= 56,716
Al 7,734
307 2Iztol ™ 64,450 75,830 A 11,380
= 56,716
Al 7,734
11T AISI S XA E = 64,450 75,830 A 11,380
OogLIsEH2 64,450,000& 64,450
= 56,716
Al 7,734
2zsgEUse 242 23N (UHLINSEE) 15,536 15,536 0
= 14,032
Al 1,504




PN HESZTY
M HASES NEIIEH 24
Sl HASS g X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 15,536 15,536 0
= 14,032
Al 1,504
11T M SXASE EX 15,536 15,536 0
ougrIssx 15,536, 000& 15,536
= 14,032
Al 1,504
2zsdAs >=42 €S (EEgLIssE 40,442 29,557 10,885
)
= 35,589
Al 4,853
307 gl2tol & 40,442 29,557 10,885
= 35,589
Al 4,853
11T M 2XALSE EX 40,442 29,557 10,885
OFUsLISEE 40,442,000 40,442
= 35,589
Al 4,853
22s8Us =242 2SN (FEMSAHR) 19,419 19,419 0
= 17,307
Al 2,112
307 glz2tol & 19,419 19,419 0
= 17,307
Al 2,112
11T MISXASEX 19,419 19,419 0
OFYEN=H X 19,419,000& 19,419
= 17,307
Al 2,112
o SXsd 4,510,855 4,184,254 326,601
= 2,550,811
Al 1,839,409
- 120,635
ZoHel SRS 4,510,855 4,184,254 326,601
= 2,550,811
Al 1,839,409
- 120,635
el A s 2,360 2,060 300
201 Let24E] 2,360 2,060 300
01 At 22l 2,360 2,060 300
OHMAXNSAERN 2 800& x700H 560
OBMAMBFTU A EL2E 7
1,000,000 1,000
OREFANHY S0 T M
80,0003 x5& +23| 800
O XAFH 22X HE X3 35,663 35,663 0




ME R
Zoje =XNE
Zoje =2XNEH

SN HH-S(BN) - MBAY - B il HlnE2
Al 25,563
T 10,100
307 glz2tol & 35,663 35,663 0
Al 25,563
T 10,100
10 M SXNANEHI2IHE=X 35,663 35,663 0
OFoelXIgge 22 a4a XA
35,663,000 35,663
Al 25,563
T 10,100
=& X= 206,056 200,740 5,316
= 144,239
Al 61,817
301 LEXZ 206,056 200,740 5,316
2 144,239
Al 61,817
01 MEIEBEZE+06l= 206,056 200,740 5,316
OZM=% X2 206,056, 000& 206,056
=2 144,239
Al 61,817
oS (XHAR) X2 105,733 100,870 4,863
2 74,013
Al 31,720
301 LEEAF 105,733 100,870 4,863
= 74,013
Al 31,720
01 A EE E 563 105,733 100,870 4,863
OZFM=Z (XA NS 105,733,000& 105,733
2 74,013
Al 31,720
Hofel Mg 52,973 54,480 A 1,507
Al 52,973
301 LBENZ 52,973 54,480 A 1,507
Al 52,973
01 MI28E +06l= 52,973 54,480 A 1,507
OXoel MHes< 52,973,000& 52,973
Al 52,973
Zopel ozH XA 102,350 79,026 23,324
= 81,880
Al 20,470
308 XXM SO0 A 102,350 79,026 23,324
= 81,880
Al 20,470
113/ 2SHUHSZAEEALS I 102,350 79,026 23,324
OFoel o=zl 102,350, 000& 102,350
= 81,880




0 04 0%

=R gni;
oHel =XsE
el sXsd

CEH B (BH) - MBEAY - B2 ﬁlf& HD=2

Al 20,470

ASH0MHQ XY L A2 AH XS 1,200 1,200 0
= 600
Al 600

301 et M= 1,200 1,200 0
= 600
Al 600

01 M BEEE2G2 1,200 1,200 0

OMASEOMR XNSHH L HAHl XI&

1,200,000& 1,200
= 600
Al 600

I XD neg 1,875 1,875 0
= 1,500
- 375

301 dEtE ™M= 1,875 1,875 0
= 1,500
- 375

01 M BEEE G2 1,875 1,875 0
OZOfel e BxI|3 1,875,000& 1,875
= 1,500
- 375

OHOlsS F=2AESAIE 229 & 76,413 90,275 AN 13,862
Al 76,413

307 QI2t0| ™ 76,413 90,275 N 13,862
Al 76,413

10 Al SEXAIEEE2IHIEX 76,413 90,275 N 13,862
OZotE F2UAESAIE 2 AHHl 63,274,000& 63,274
Al 63,274

OZotE F2AESAIE 24|
1,000,000& *12& 12,000
Al 12,000
OHMOIS FUEBSAIE SAEQUE
100, 000& *2H 200
Al 200
OXEMOtES F2UAESAIE AlA2R2E

939,000& 939
Al 939

SOOI ATEANE 29 X 246,679 242,961 3,718
Al 246,679

307 212t0| & 246,679 242,961 3,718
Al 246,679

10 AIRISEXAIEEE2IHIBEX 246,679 242,961 3,718
OFOMO HATHE AL Q124H| 206,501,000& 206,501
Al 206,501
OHOMQ HATHEALE 29H| 19,366,000 19,366

_7_




SN MER N
Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 19,366
OO MNATHEAIE ZAH| 20,412,000& 20,412
Al 20,412
OHM MNATHEAE SXNEQE
100,000& »4H 400
Al 400
ZOHe FUAESAE 2 N 72,350 145,000 AT2,650
307 glz2tol & 72,350 145,000 AT2,650
10 ALSISXAIEEE2EHEX 72,350 145,000 AT2,650
OXZOLl =2EBS A4 2l Ab| 64,350,000 64,350
OO =2AESAIE 2FH| 8,000,000& 8,000
Zoje sXad X 1,276,742 1,090, 862 185,880
= 895,698
Al 381,044
307 glz2tol & 1,276,742 1,090, 862 185,880
= 895,698
Al 381,044
05 RIZHRI &3 1,276,742 1,090, 862 185,880
O&ofel esXdA=0 N 1,276,742,000& 1,276,742
= 895,698
Al 381,044
Foelgsia Jte=0 N 2,684 600 2,084
= 1,878
Al 806
307 21201 A 2,684 600 2,084
= 1,878
Al 806
05 RIZHRI & 3 2,684 600 2,084
O ESXd JHetsd XI& 2,684,000 2,684
= 1,878
Al 806
ool sk AlHIFIHXA 80,690 86,508 25,818
Al 80,690
307 21201 A 80,690 86,508 25,818
Al 80,690
05 BIZHRI & 3 80,690 86,508 25,818
OF&SX& AlBI=ILXI&  80,690,000& 80,690
Al 80,690
ZOEsS2AY 22 4,850 4,850 0
201 LB-2d| 4,850 4,850 0
01 At 2t 2l 4,850 4,850 0
=S ABYAY =2 100,000 3% *123] 3,600
OME2JI& XNE &ARAE =
100,000 x5H x23] 1,000

_8_




SN MEEED
Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OAFEIY S ARESEH| 250,000& 250
202 20 X3 1,322,374 1,209,591 112,783
= 925,662
Al 396,712
301 dEtE M= 1,322,374 1,209,591 112,783
= 925,662
Al 396,712
01 Al B & A 46 2 1,322,374 1,209,591 112,783
O&eIHA=Z =0 X2 1,322,374,000& 1,322,374
= 925,662
Al 396,712
ZHOf QI K2l K& (Bt Xtel) 391,014 382,532 8,482
= 195,507
Al 195,507
301 et M= 391,014 382,532 8,482
2 195,507
Al 195,507
01 Al E& A 252 391,014 382,532 8,482
OB L2l M (LBE AT 2l)
391,014,000 391,014
= 195,507
Al 195,507
ZoH ol Xtel X2 (Al EAIL XHel) 112,080 63,790 48,290
2 56,040
Al 56,040
301 et ™M= 112,080 63,790 48,290
= 56,040
Al 56,040
01 A& A 252 112,080 63,790 48,290
O 04 QI K2l KI 2 (Al 2EHI & Xtel)
112,080,000 112,080
= 56,040
Al 56,040
Zrojeld xtel K| (=X Rel) 171,124 156,530 14,594
= 85,562
Al 85,562
301 et M= 171,124 156,530 14,594
= 85,562
Al 85,562
01 AMFSIEXE 4562 171,124 156,530 14,594
OXH LRI N (2R X2E])
171,124,000 171,124
= 85,562
Al 85,562
SETHEAEI A BIRSH A& 50,181 50, 181 0
= 35,127




AN MEEFHD
M HOe =2XNE5E
el Zojel =2XEH CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 15,054
307 glz2tol & 50,181 50, 181 0
= 35,127
Al 15,054
05 RIZHRIEt 3 50,181 50, 181 0
OLEMaMtl A BRH XIS 50,181,000& 50,181
= 35,127
Al 15,054
Zoelgsl SXAY X 28,600 28,600 0
307 21201 A 28,600 28,600 0
11T AISI S XA E = 28,600 28,600 0
O&oer =XAMY XI& 20,600,000 20,600
OFOHel &AL XI& 8,000,000& 8,000
HEZMe S4HESXA 2,000 1,000 1,000
= 1,400
Al 600
301 LBEAS 2,000 1,000 1,000
= 1,400
Al 600
01 MEIBZE 206z 2,000 1,000 1,000
O&Zel E4HEXA 2,000,000& 2,000
= 1,400
Al 600
ZOHQIOIE SMXAZS XA 2,000 2,000 0
301 LEAF 2,000 2,000 0
01 MEIBEE 53 2,000 2,000 0
OFMIE SLRNASKE 2,000,000& 2,000
LT F2AESAHEIAXEA 47,164 32,400 14,764
= 33,015
Al 14,149
307 21201 A 47,164 32,400 14,764
= 33,015
Al 14,149
05 RIZERI & 3 47,164 32,400 14,764
OLLTUY FAHSHUIAKR
47,164,000 47,164
= 33,015
Al 14,149
LM LU SSMHEAXA 26,700 35,120 A8,420
= 18,690
Al 8,010
307 21201 A 26,700 35,120 28,420
= 18,690
Al 8,010




SN MER N
M HOMC SXNSE
el Zojel =2XEH CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
05 QIZ2tR E 2 26,700 35,120 N8,420
Oogc el dus sEMMHIAXE
26,700,000 26,700
= 18,690
Al 8,010
OIS MEMEH 29 XS 86,000 80,000 6,000
Al 86,000
307 2Iz2t0| & 86,000 80,000 6,000
Al 86,000
10 M SXANEEHESIGHEX 86,000 80,000 6,000
OHMA XS MENMEH 249 A& 86,000,000 86,000
Al 86,000
SRRl F=E2AHEESNHEIA AIHIZEINAS 3,000 3, 140 A 140
Al 3,000
307 giztol & 3,000 3, 140 A 140
Al 3,000
05 QIZtR E 2 3,000 3, 140 A 140
OYSY o =22 MHIA ABIZ=IMXA
3,000,000& 3,000
Al 3,000
HMESEAY (MESBE) 67,239 62,592 4,647
JlE&d| 67,239 62,592 4,647
N PAR= s 67,239 62,592 4,647
201 &Bt24Ay| 9,639 9,072 567
01 AP 22| H| 9,639 9,072 567
OBAE2YE Jl242H| 279,000 x17H 4,743
OJI2gd24s 22| 8,000& 34 x17H «12& 4,896
202 044l 53,040 49,920 3,120
01 2L I 53,040 49,920 3,120
OJI2ges8 oyl 260,000 17 «12& 53,040
203 R F & 3,600 3,600 0
04 EASHEIRFAH| 3,600 3,600 0
OBEMZAEYH 300,000 x12& 3,600
405 KHoHFE S HI 960 0 960
01 XA 2B F S| 960 0 960
OXK o Xt ¢ 240,000%4JH 960
MEESS (M2 2D 22,500 22,500 0
WEHN K= 22,500 22,500 0
o 2=20II2 EEIAH o &2 22,500 22,500 0
701 JIEISI HSEE2 22,500 22,500 0




SN SRR D
o feEs(

el WRAHAHXS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e
01 JIEtel HE &= 22,500 22,500
OA=SSHSEEIAN HES 22,500,000& 22,500




